Exploring Genetic Algorithms Through the Iterative Prisoner's Dilemma

Iterative Prisoner's Dilemma

The general Prisoner's Dilemma is a scenario in which there are two
players that can each choose to either cooperate with the other or to defect.
They must each make their decisions without knowledge of the other's
decision. Each player then gets points based on what their decisions were.
The points are given as follows:

Cooperate Defect
Cooperate R,R S, T
Defect T,S P,P

The point values must satisfy certain inequalities. In order to be a Prisoner's
Dilemma problem, the inequality R > T > P > S must be satisfied.

In the Iterative Prisoner's Dilemma, the two players go through this
scenario many times, and remember the past. In order to be used for the
Iterative Prisoner's Dilemma, the values must satisfy the inequality 2R > S +
T. The points from each round are added to form a score for each player. I
used the following table, which satisfies both inequalities and is the most
commonly used set of values:

Cooperate Defect
Cooperate 3,3 0,5
Defect 5,0 1,1

Average Fitness by Generation

100 Generations, Singlepoint Recombination, Static Natural Selection

50000

Genetic Algorithm

Genetic algorithms are used to find approximate solutions to
optimization problems when the solution would be very time-consuming to
compute. The general layout of a genetic algorithm is:

Initialization of gene pool
Loop over generations
Natural Selection
Selection
Loop over empty slots in population
Recombination
Mutation

There are many ways in which to perform each of these steps. My program
will allow the user to select which method to use for each step. In this way,
the different methods can be compared.
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